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ZOOLOGY
41.  Assertion (A) : “The Biological Species” concept helps us to ask how sg
are formed.
‘Reason (R) : The concept of Biological species focusses our attentior on
question of how reproductive isolation comes abguf.
(1) Both (A) and (R) are correct, but (R) does not explain (A)
(2) Both (A) and (R) are not true
(3) , Only (A) is true but (R) is not correct
w/ Both (A) and (R) are correct and (R) is a true expl :
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42, In ophiuroidea branched arms are seen i
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43. Note the following : N\ Z
(@) It is a fresh water, metame ted protostome.
(b) The clitellum is absent.

(¢) It is unisexual.
(d)  Its larval form js-Trochophore

(e) The nervous system i8-found e epidermis.
Which of the above(if "Raddle worm” ?
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44, Match the following :
List I List II

(A) Green glands (I)  Scolopendra

(B) Amphlds and Phasmlds (II) Respiratory organ

(C) Ctenidia (ITI) Shell protein

(D) Poison claw (IV) Excretory organs

(E) Concholin (V) Sense organs
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(A) &~08 [Hogoen (I).
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D) JEHE® (IV)
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The correct match is (80 wond @) :
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45. The type of connective tissue that is ass

(1) Areolar connective tissue

(3)  Adipose connective tissue
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46. Note the following :

(@ It forms the lining of the caviti eoli of the lungs.

(b) It forms the lining of wet surfa buccal cavity and oesophagus.

(e) It occurs in the ducts of sweat glands.

(d) It forms the lining-of sahvary ds and sweat glands.

(e) It is a loose cgnpe i

Which of the above|afre asseciated with simple epithelial tissue ?
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47. In vorticella, the total number of micronuclei formed at the end of pre-zygotic
nuclear division in female gamont is :
SoDer b Sodmr Dm SredyE @uYy Soowy Bods Loy JFwie wue
A& SE5) Boere domg é ?
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48. Which stage in the life cycle of Taenia splium, infects the intermedidte fhost ?
(1) Hexacanth larva ~ Oncosphere
(3) Cysticercus larva (4) Miracidium
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49. Assertion (A) : Predation is an interspecific interactionwith ing strategy.
Reason (R): Predation and their prey main a' sta pulation
through time and rarely one popk e abundant or
scarce,
(1) _ Both (A) and (R) are not correct J
@ Both (A) and (R) are correct and (
(3) Only (A) is correct, (R) is not corrpct
(4) Both (A) and (R) are correct, but (R)1
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50. In pheretima, gizza

receive the blood

4| buccal tavity, pharynx, oesophagus, pharyngeal nephridia
essel :

(2) Lateral oesophageal

(4) Subneural
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51. The location of lymph glands in Pheretima is :
(1)  4th, Hth and 6th segments (2) 10th to 20th segments
26th to the last segments (4) 13th segment
OS Bof). FPRIS| oo FyEn G (Sob Dgawre wodk;
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52. Note the following : '

(@) Fenestra ~ (b)  Pedical (o)

(d) Flagellum (&)  Galea (A  Men

(g)  Palpifer (h) Cardo @) Hossd.
Which of the above found in the first pair of maxi
Cockroach ?
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53. Note the following : _
An insect whose mouthparts are biti chewing type in the larval
condition, while they are siphoning type in_the adult and this insect gives an
economically important substance during yet another stage of its development.
The insect is : “@

(1)  Anopheles (2)  Laccifer
Bombyx (4) Apis
e 80d &8¢
Sogs &5¥6° B PEEHSNOMN | TPFEEET SrassFsn Sopeersnes

sy Sussn @B

1) | o205 @ e8y36
(B//\e:vo&g;) O @) S
Rough k ' V

228



AM 2009 A

Note the following : _ '
(@) Monocytes (6)  Trophocytes (¢)  Lymphocytes
(d) Mycetocytes (e)  Leucocytes (V3 Oenocytes

(g)  Urate cells

Which of the above are fat. cells in Perjplanata ?
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In cockroach which of the following is
(1)  Supraocesophageal ganglia

(3)  Metathoracic ganglia 4) 2 alrganglid
E78086° & 808 IE° D6 (Beo) ol oo SHo& :
(1)° weesy adree 8508 (& oBtshy o
8) oSy o4 Hob

N
neinal motor centre :

The growth of a population
of immigration and emigratio
(1)  Carrying capacity

(3)  Positive growth
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iver, de%r{, forest and lake ecosystems, thus exhibiting
a dlverslty of lifé. Wh sure do you use to denote total diversity in such
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58, The pair of Amphibians found in Indiap Peninsula is :
(1) Amphiuma ¥~ Tylototriton and Ichthyophis
(3) Hyla and Ambystoma (4) Psittacus and Apteryx
geod des Soyando emHlodn agobiddsve =& !
1) sobohem BoEYBeeE & a8 @5
(3) Frer & woBIEr 4) BB o208y
59. In coelomates the problem of diffusion of food from gut to tissues is solved by!:
(1) The presence of coelomic fluid
(2) ~ Churning the food within the body cavity
uf)/ Developing a circulatory system
(4) Developing gut associated glands .
L6338 Epeos’ &5 Tvsy Hod eFErsy Swoes
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(1) &% ESS» soshed
2) 00 HEe0of® weStrsn Stheds mlos
(\’*})/ FSn SEISH FGHOMWETSLo Sl
@) o365 brs Sowodd Koo SHETETSwo
60. Ovoviviparity is seen in this caecilian : ~N
(1) Wauchereria “Typhlonectus  (f 4) Uraeotyphlus
HRHONE S0k ©odIF eEEE ol
(1) Hsdeete RV BISTES ( 4) che@EREsE
61.

0mv
~70 vl D
Identify the‘reg Va* channels are reactivated but closed and all
K* channels an :
goh ©y Na* Se(D08o, =D SwedhIcod 28I Hbak, = K
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62. A hormone secreted by the endocnnal cells of duodenal mucosa which influences

the release of pancreatic juice is
(1) Relaxin (ﬂ.‘}//éholecyatokinin

(3)  Secretin (4) Progesteron _
soEsire I8 H06°R wody S Swrod ($DoSud LU |are Hd
(Seedda I 55‘06"'&5: 88 :

(1) 8e=8y§ th/s’éﬁ&agas
@ 88S @ @S //\\
63. With the help of the below given, 1dent1fy the co M

the formation of blood clot :

to

(@) Blood clot ()  Injury ()

(d) Factor III (e) Factor IV H

(g Thrombin

Bod adMwds o8 SHAHEnes® & SyoFSsw

538,055
(a) O’Eﬁ&oﬁﬁ&a (b) o

(d) ==g8c I (e) s=g8o IV
@ |grodS

oticed ynder :
(R)/Lo'w temperature and high pH
(4) Low pH and low temperature

@ eoy ago & ©88 pH
4) ooy pH & o) aio
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65. Hypochromic microeytic anaemia and Leucopenia are caused by the deficiency

;O Rr——— | - A respectively.

(1) Pyridoxine and Riboflavin ®/ Pyridoxine and Folacin

(3) Biotin and Folacin (4) Biotin and Cyaﬁocobalami

Eo (BDOE™ wuunerrrvrsnressinsiasten s ® 6°55 Sof TAE°E B’
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66. Which of the below given bones divide olfactory caps
right halves :

i ?&@ left and

(@) nasals (b) premaxillae () maxi (d)" tesethmoid
Kodendoh, ¥ (80b m:‘%e:é" DO (Dot g e snesne
QEBOTID :

(@) oo (B) wollse Hrowen
[
1) a @/ d

67. The glycoprotein layer bet

(1) Membrana granulosa Zona\pellucida
(3) Corpus luteum

KoBendotH m&aa §%%08®
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69. Note the following :

(@) Skin (b) Phagocytes
(d) Inflammation (e) Antibodies
(g Fever (h) Antimicrobial proteins
NG, Secretions. c
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1dentify the factors involved in 2nd line of defence.
1808 &#ID H6IDoHs» :

(@ ey ®) ogs Sove

(d) aelos0 () |S8Tas=oen

@ meuse (h) Saren B2 &380%

() Esve | |

B ahokh o B8 Ffw Te wiTod HE oy

b, d, di (2) b, ¢ di (3 s d 5
gand i (2) ¢, e and i (man

The urine is :
(1) _Hypotonic to blood and Isotonic

(3) Isotonic to blood and..
(4) Isotonic to blood and H

sy ©oHIo ¢ :
gyﬁﬁnﬁ& SFEE B0 Gy BI0SH SHrEE HDEwodD
CES0Ss ©88 rEd DHbok S5y (Sdods SSHhrrgs KDauod®
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71.

The extinct repea wi al fossae belong to :
(1
3)

(2) Synaptosauria

Cotylosauria

oy 8 Sydren BO8 SowodEs :
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In the above given pedigree, assume that no outsider
Write the genotypes of II and III
28 SrSeds Sof & gams" poHd Kol Japse & SIpBSL rgd

::5:-:5& VepBuI FEESS w6 gosE” I & TH Sy, g SeBSwe®
DE S
1 Al X% w3

@) XX XY and x%" )
73. Match the following :

(A) XX - XO, method of
(B) 1.5 X/A ratio

(C) Karyotype 45

a :
d x?
\r/ List 11
2 Heterogametic

(II)  Turner’s syndrome
(III) Hemiptera

(D) ZW — ZZ method of sex determirnati (IV) Metafemale
S (808 PO edISHMWaw :
n}éﬂ' I : 5‘;&’ 11
(A) XX - XO, ®of Do M 28X Sodrs
Q BE e=y8¥0
(B) 15 X/A 258 | (ID o5y ?oo@*’&
(C) 8B BDA - D) =2
D) ZW - 77/ ¢ o (Iv) eae:m
The correct matth is : *
K)ﬂﬁo&i =11
Eg/ ITI
4) /]1
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74.

- of the father, if her claim is right ?

| AM2009A.

A woman with blood group ‘O has a child with blood group ‘O’. She claims that
a man with blood group ‘A’ as the father of her child. What would be the

‘O 68D g8 St ¥OS D ‘0. SESTH SoerSsn FDAHY 8.
08 SSsn Ko "Hood 85 I6H ey Sod ©d I,
Bgirdsn JDFor @odS? !

55 I g @ 1P @/ 1AL9 @ B0

75.

A specific nucleotide sequence to which RNA polymerase
iption of m-RNA from a gene :

" Promoter gene (2) Structural
(3) Operon (4) Regulator gene

RNA rOx38% ©&5730 m-RNA @ns) o3 oDod ol
, .{’;s;@"ga_ge S Faban gd -
Y~ @3reb admg @) doye w
@) LSS | @) dovoSe =853H

76, A selection that acts to eliminate one extre TT phenotypes is :
(1) - Disruptive Directional (3) b Coevolution
Ba¥gtrare C5SN0E® &f eodgind Sopopyied \SVuah Swo gb :
(1) NS ( Qeedns (3) ‘Eg E{ce (4) S5=0eoeD

77. Assertion (A) : The Theg ival of the Fittestis widely misunderstood.

Reason (R) : Evolutiondoesnotalwaysincrease the chances of a species survival
(1) Both (A.) and (R)am true, but daes notc explain (A)
(2) ~ Only (A) is true, but (R) cannot explain={Z

Both (A) and (R) are true and (R) is a t¥ue explanation of (A)

g Qﬁ&ﬁo & ?oa;oéaim e ¥orr 93"2'5»
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78. In poultry first Deworming is usually done around thm age :
(1) 4 weeks W):weeks (3) 12weeks (4)
§°46° awsE 850308 B SeHENE® BOBE :

(1) 4 sroven ®Y Barorew  (3) 12acocen  (4)

79.  The sequence of Nitrogen Bases (Triplet) on £-RNA is : |

" Anticodon = (2) Terminating codon
(3) Degenerate codon (4) Initiating c
t-RNA §|i8ad prosve @8y (828 ) amss@'&m ;

wol §%arS
(3) 38%3S %S

80. Match the following :
'  List1
(A) Sandwich ELISA (I)  Three dimefisi
(B) QRS complex i
(C)  Allograft
(D) CT Scan

1808 AR ad ST

gede I |
(A) 0525 28>
(B) QRS¢§0§§.0

€) o’ L”"§ 6&5 €80

D) C;P&b..g c 65333'&‘556 B8R Sghe Sy =07 5865w
The correct match )
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